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(MCQ 40x1 = 40 marks)
1. An Indian scientist who won Nobel Prize for Physics is
(A)J C Bose
(B) HJ Bhabha
(C) M N Saha
(D) sir CV Raman
HIAHT &b ferw Aol WEPR Siicdel dTell Teh ARG d-ATTAD &
(A) S & aF
(B) TT o HIAT
(C) ©H ©d "rer

(D) & & & &
2. Which of the following is not a system of units?
fafoiRed & 4 &1 SHIs vl 781 62
(A) MKS
(B) CGS
(©) sl

(D) Decibel (SRraa)

3. In Sl system the fundamental units are

(A) meter, kilogram, second, ampere, Kelvin, mole and candela
(B) meter, kilogram, second, coulomb, Kelvin, mole and candela
(C) meter, Newton, second, ampere, Kelvin, mole and candela
(D) meter, kilogram, second, ampere, Kelvin, mole and flux

S| vuTTelt & Hifeie Sh1gdl &

(A) Hier, fhamm, Ydbs, TR, biea, A 3R Sl
(B) HieR, fHaum, ORI, o, Biedd, HId 3R Hadl
(C) Wex, e, Vs, TR, FHfed, HIAsiR draan

(D) Hiex, fhamum, Vs, TR, bfea, A 3R TRl




4. A vehicle travels half the distance with speed v, and half with speed v, then its average speed is

Teh aTeed 3T gl vi & A1l A 3R 3N G v, 8 T BT &, ol 38! 3 =1l &

v1+v;,

(A) =

27]1 +v,
(B) v1+v;,

2U1U2
(C) v1+v;,

l(v1+vy)

V1V2

(D)

5. Which of the following can be used to describe how fast an object is moving along with the
direction of motion at a given instant of time?
(A) Instantaneous velocity
(B) Instantaneous speed
(C) Average velocity
(D) Average speed

fafafad & 3 fger IuanT g8 auie & & fore faar 51 gear @ 7 e fAfad gug & nfa ot
f2n & Y-y B axq fobaT st F 3 §¢ W 82

(A) &ffore AT
(B) & <l
(C) 3Td AT
(D) 3N T
6. Maximum range of projectile:

& &1 HfUHIH ST

(A) Rna= U? /g, whenf= 45°
(B) Rmax= U /g, whenf= 45°
(C) Rmax= U? /g, whenf= 90°

(D) None of these ( §TH ¥ @15 -1g1 )

7. A body travels along the circumference of a circle of radius 2 m with a linear velocity of 6 m/s .
Then its angular velocity is

T g 2 m Bar ard g0 &1 aRfY & SRR 6 m/s & XRAH o1 A 0 Rl ¢ | 79 3P
BT IR
(A)6rad/s
(B)3rad /s
(C)2rad/s
(D)4rad/s
8. Acceleration is which type of physical quantity

(A) Vector
(B) Scalar
(C) Tensor



(D) None of these
@Rl b YR Pt Ui AR &

(A) Tfe=T

(B) 3ifex

(C) TW

(D) STHUDISTa!

9. A student studies some equations. Power = work / time ; force = mass x acceleration;  velocity =
displacement/ time How many vector quantities are contained in the equations?

T el o RN 1 3198 B 5| Ak = BT / JHY; el = SHH x TR, 97 =
faRUTT / g FHienul H foveit Tfe=r iRl fAfga § 2

(A) 1

(B) 2

(C) 3
(D) 4

10. To shake off water from wet cloth, it is common to give it a sudden jerk. In doing so, we are taking
advantage of :

(A) Newton’s first law of motion
(B) Newton’s second law of motion
(C) Newton’s third law of motion
(D) None of these

Tﬂﬁg%é&ﬁﬁ@ﬁ%%ﬂ,aﬁadmdo IChHT AT 3TH &1 ¢ | T HeA H, 4 forret Ay
3ol :

(A) & B Tfd &l Ugar g™

(B) = D1 Tfd 1 g1 Ay
(C) =& B T T fIRT g
(D) TTH Y PIS T

11. Why we experience recoil in a gun after firing a bullet?
(A) Because the bullet has small linear momentum
(B) Because the bullet has large linear momentum
(C) The bullet has zero linear momentum
(D) None of the above
el g™ & 918, 89 dg@ & Ui ger & IHd FI HRd 82
(A) I TTietl & T $HH W WA gl &
(B) I el & U e Y&y G gl &
(C) Tl & Uy g g T eIl §




(D) SWRIad H T &5 el

12. The mass of a body is 2 kg. It weight is
U TUS T GeIATA 2 TeharT &1 ST AR BT

(A) 19.6 N
(B) 21.6 N
(C)30N
(D) 40 N

13. A passenger in a moving bus is thrown forward when the bus is suddenly stopped. This is explained
(A) by Newtons first law
(B) by Newtons second law
(C) by Newtons third law
(D) by the principle of conservation of momentum

Tl a9 & T AT I8 P 3ATID Fehel U 373N Y 3R R ST & | IE THASITAT ST TheT &
(A) =g & ygdl [Aaa grr

(B) =g & @A gRT

(C) =g & e I gRI

(D) TAT & TETOT & FAGIT GRT

14. Conservation momentum in a collision between particles can be understood from :

(A) Conservation of energy

(B) Newton’s first law only

(C) Newton’s second law only

(D) Both Newton’s second and third law

U b oI THRIG H T W& Y T JHT S Jhdl o:

(A) Sl BT TREJTT

(B) hadl ge &1 Ygal ™

(C) had e 1 gI_T fFgd
(D) e & ER 3R o o gt &

15. A block of mass M is placed on a flat surface. A force is applied to move it parallel to the surface.
The frictional force f developed is proportional to the
(A) square of the mass of the body
(B) mass of the body
(C) reciprocal of the mass of the body
(D) reciprocal of the square of the body

M EIATA Pl Ueh U AT Ade U IWT IAT & | 38 s &b JHATATI of ST &b foIT Tep g
ST ST © | [aep i avor ac f..... & HATGATT aidl &

(A) Uz & gegaTe & gt

(B) TUS T g AT




(C) U5 & gegAT ol faeit AT
(D) ftiz & et & farehaATgard

16. In any kind of collision
(A) linear momentum is always conserved
(B) kinetic energy is always conserved
(C) both (A) & (B)
(D) neither (A) & (B)

fopdT off e Fr et H

(A) 3 T TAA WI&AT 2T &
(B) TITIST Zatt gatem EaTa el &
(C) A3R B g=r

(D)TFAINNRATE B

17. Potential energy = mass X ............... x height :
(A) Displacement
(B) Density
(C) Velocity
(D) Gravitational acceleration

fRUfer Sootl = STAM % ............ x $dTS :
(A) fa=yo=

(B) Uicd

(©am

(D) THIA @RI

18. Area under force displacement graph is equal to :

(A) Impulse

(B) Momentum
(C) Work done
(D) None of these

I faRATI UM & 3 Td & d SRISR Bl §
(A) SHTRT

(B) Tl

() &

(D) STH A FIS g

19. Torque acting on a body is the rotational analogue of:



(A) Mass

(B) Force

(C) Velocity

(D) Kinetic energy

ford} fifs W v aren efd fhgent guff sr=u §:;
(A) ST

(B) &t

(©am

(D) TIfast Soi

20. Which physical quantity is represented by the product of moment of inertia and the angular
acceleration?

(A) Centre of mass

(B) Torque

(C) Angular momentum
(D) Linear momentum

STea3mguf 3R H1ofig @Rl & UHTGE gRT HH-U Hifde AT TelRid &1 S 82
(A) ST BT g

(B) Tfdh

(C) HIufiT AT

(D) 3T |AT

21. If a body is rotating about an axis, passing through its centre of mass then its angular momentum is
directed along its
(A) Radius
(B) Tangent
(C) Circumference
(D) Axis of rotation

I 1S T3 31U GedATe & o W ol §U Teh 3787 U T T &, Tl SHbT HIONT HA by
ferem 3(

(A) Bear

(B) TgeREr

(C) R

(D) ot dr gt

22. Escape speed of body on the surface of a plant does not depend on :

(A) Mass of the planet
(B) Radius of the planet
(C) Mass of the body



(D) Gravitation constant (G)

for it o5 @t weg W fife &t e fa R T et & -
(A) T8 BT G

(B) U8 B! Bsan

(C) fis &1 goqH

(D) TH@TH YU RRIS (G)

23. The acceleration due to gravity on the earth’s surface:

(A) Maximum at pole

(B) Maximum at equator

(C) Minimum at pole

(D) Equal both at pole and equator

T2 B qdg IR TBAIHYUI o HRUT @RUT:
(A) Yd R3fYDHTH

(B) YU T WR3HAHay

(C) 49 IR AqH

(D) Yd 3R YHeT XM Sl TR FAM

24. The escape velocity of a body depends upon mass as

fopdY U &l UTIA AT gIAT U AR fFg YR &iar &

(A) m°
(B) m'
(C)ym®

(D) m®

25. Hydraulic brakes work on the basis of:
(A) Poiseuille’s law.
(B) Pascal’s law.
(C) Archimedes’ principle.
(D) Bernoulli’s principle.

grssiford s AT & 3UR W H1H R &
(A\) Poiseuille & Srele |
(B) UrEdhdl ol [T |

(C) 3nfhiAEa Rgial



(D) F=ifelt &1 fRrgia

26. A body is falling freely in a viscous liquid. Finally it:
(A) falls with a constant velocity.
(B) falls with decreasing velocity.
(C) falls with increasing velocity.
(D) comes to rest in the liquid.

#15 Tus fFd I ga FA TadaT U A IR W &1 31 A T
(A) Th TARAR 97 & A1 FRAT B

(B) Tredt 9T & AT AT B

(C) Tt AT & AT FIRAT &

(D) TR H 3RTH et &b ToIT 3T & |

27. The viscous force does not depend upon
(a) velocity.
(b) velocity gradient.
(c) nature of the liquid.
(d) area

T It AR ST PLAT S
(A) AT
(B) d9T T |

(C) acl T gpfd|
(D) &7

28. The velocity up to which the flow of a liquid remains streamlined and above which it becomes
turbulent is called

(A) critical velocity.
(D) terminal velocity.
(C) velocity gradient.
(D) none of the above.

ore 491 dep Fohel g a1 Jare YRR T&dT § 3R [as 3w ag fasey & ST 8, dhaclar &
(A) lfedes |

(B) efdaer dam|

(C) AT &1 |

(D) 30 # { IS K|

29. A steel wire is loaded by 2 kg weight. If the radius of the wire is doubled, then its extension will
become

(A) half

(B) four times
(C) one-fourth
(D) double

Teh T & IR WR 2 fehalT 3R o1 Sirett & | afe R Y F3sam alget o & Se, o 3qen faedr
o ST
(A) 3TeT




(B) IR oM
(C) Teh =TS
(D) 39

30. The best ideal black body is
(a) Lamp of charcoal heated to high temperature
(b) Metal coated with a black dye
(c) Glass surface coated with coalter
(d) Hollow enclosure blackened inside and having a small hole

At e HOvTHR &

(A\) TR PT &G 3T ATTHATT TR IRSHA fHIT ST &
(B) Tet T &b AT AT YT

(C) T T TlE dPlec & AT o fid

(D) W 1S & 376X hTell & 31T 3T Tep Sier ¢t Iram

31. The translational kinetic energy of gas molecules at temperature T for one mole of a gas is

foreit 3 & T Aer & Forw ATy T R 3 & 313t Y LA TS Sot @ &

(A) (3/2) RT
(B) (9/2) RT
(C) (1/3) RT
(D) (5/2) RT

32. Which of the following parameters dose not characterize the thermodynamic state of matter?
(a) work
(b) volume
(c) pressure
(d) Temperature

AFafaf@a & @ i a1 R uerd) & aaferaiae Tafa o faduar a87 &2
(A) BT

(B) 3mad=
(C) gama
(D) AU

33. Heat cannot by itself flow from a body at lower temperature to a body at higher temperature is a
statement as a consequence of
(A) conservation of mass
(C) conservation of momentum
(C) first law of thermodynamics
(D) second law of thermodynamics

STHAT 370 37T hd dTUATT drel U & 3T dIHTT drel fUs & yarfed ¢! & Thd &, IS Th
HY & fFas uRona Tawg

(A) GCIHAT T TIGTOT

(B) ITTcY ST EXETOT




(C) AU &1 Ugell AT
(D) SSHAFATNERT ST @ fAaH

34. An engine has an efficiency of 1/6. When the temperature of sink is reduced by 62°C, its efficiency
is doubled. Temperature of the source is:

T SofeT I G&TAT 1/6 ¥ | ST Tieh T ATUHATH 62°C A B 16T AT &, AT SHDT G&TAT AT &
ST &1 B P dTIATT &

(A) 124°C
(B) 37°C
(C) 62°C
(D) 99°C

35. According to kinetic theory of gases, at absolute zero of temperature
(A) Water freezes
(B) Liquid helium freezes
(C) Molecular motion stops
(D) Liquid hydrogen freezes

3t & aifast RigTed & 31TaR WA L dT W
(A) UTAT ST AT &

(B) &a €T STH ST &

(C) HToTIe 1T Tk AT &

(D) && ETSZIST ST AT &

36. In gases a sound wave is
(A) Longitudinal only
(B) Transverse only
(C) both A and B
(D) None of these
It F wafay aRer B ¥
(A) PadT 3aed
G EEREG R
(C) A 3R BgEr

(D) 3T & PIg 3

37. If a wave complete 20 vibration in 2.5s, then its frequency is

afe P T 2.55 F 20 FHUS QUT AT §, A sTHT IR

(A) 200 Hz

(B) 50 Hz
(C) 20 Hz

(D) 8 Hz



38. If the pendulum oscillates 78 times in one minute then the frequency of that pendulum will
be

Ifg dieleh Teh fAec A 78 IR Eleled &l & ol 38 clleleh i g groft
(A) 2 Hz

(B) 1.5 Hz

(C) 1.3 Hz

(D) 1.2 Hz

39. Which of the following is not essential for S.H.M.?
(A) Gravity
(B) Restoring force
(C) Inertia
(D) Material medium

A= 3 O i a1 T 3mad a1fa & forw 3maeas 2 § 2
(A) TEcareyoT

(B) GAEATTA T

(C) ST&r

(D) A ATIH

40. The restoring force acting on the particle executing S.H.M. is
(A) directly proportional to displacement.
(B) inversely proportional to displacement.
(C) directed in the same direction as the displacement.
(D) independent of displacement.

S.H.M feranfead el arel o1 I UcaTeddel Il Ry T &1 &
(A) fareume & @9 3reguides |

(B) faemu & faudia sreguifae|

(C) TaeuTu= & AT feem & AR |

(D) ey & TadF|



ANSWER KEY

Q.No | ANS Q.No | ANS Q.No | ANS Q.No | ANS
1 B 11 B 21 D 31 A
2 D 12 A 22 C 32 A
3 A 13 A 23 A 33 D
4 C 14 D 24 A 34 D
5 C 15 B 25 B 35 C
6 A 16 A 26 A 36 A
7 B 17 D 27 A 37 D
8 A 18 C 28 A 38 C
9 B 19 B 29 C 39 A
10 A 20 B 30 D 40 A




